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, A= P(j-u,)" A= Amount (includes principal :e tnterest)
P+ Principal (ameunt invested o berrowed)

MAPA4CI : Graphical Models ; -y i derest rate as a decimal
N> number of years .
Exponential Model (Growth) - Return on Investment st .« 0" i\ be more complicated in Unit

P ? ® 4= 0.665
You have invested $5000 in a GIC that eam per year compounded annually. Complete
the table below and graph the amount your investment is worth at the end of each year.
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1. Is this relationship exponential? L4
es round ‘o 2008 2010 2012 2014 2016 2018 2020
How can you tell? 3d. e Year

[z How long will it take for your investment to double
in value? x
-_y = ab
‘ from gr‘a.?k S cunrve
*e¥ Poﬁe_nA% a\ Cw:m +able - ratio column

stam
%\oge Yo constant (because

of chopped Values)
Lrom e,zvm-\-‘rm —>variable in exponerst

a. ¥ rom Sﬁap\‘\ \\3@(‘3

Rule o-(: 12
T = CompO und inkrest rate

A2% 6,5 =\1,08 years o double
A = 5000(1.0e5) A =S000 (1.065) -
A= q99, A= I0bHS
*, 1+ Hakes about /lé,cars Jo double..
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